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reg_asym_saml_diff bpm1X_ slope vs run
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reg_asym_saml_diff_ bpm4eX_ slope vs run
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reg_asym_saml_diff_ bpm4eY_slope vs run
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reg_asym_sam2_diff bpm1X_ slope vs run
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reg_asym_sam2_diff_bpm4aY_slope vs run
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reg_asym_sam2_diff_bpm4eY_slope vs run
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reg_asym_sam2_diff_bpm12X_ slope vs run
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reg_asym_sam3_diff bpm1X_ slope vs run
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reg_asym_sam3_diff_bpm4aY_slope vs run

X2 / ndf

e pOo

7.84 /81
-3.209 + 0.5023

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

" Entries 82
Mean 250.6

Std Dev 220.9

451

35
30
25

20

10

:;...|...|...|..ﬂ|.]n|...|...|...

pulllD

Entries 82

Mean -0.007559

Std Dev 0.3091

-8

-6 -4 -2 0 2 4 6 8



reg_asym_sam3_diff_bpm4eX_slope vs run

-25

-30

-35

—-40

-45

-50

-55

_60_

X2 / ndf
pOo

25.73/81
-45.54 + 0.7047

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

s

R R R R R R

pull

Entries
.| Mean
Std Dev

82
67.49
7.845

25

20

15

10

pulllD

Entries 82

Mean -0.0202

Std Dev 0.5598

-III|III|III|III|III |I-|II|III|III

-8 -6 -4 -2 0 2 4 6 8



reg_asym_sam3_diff_bpm4eY_slope vs run

X2 / ndf

34

14—

12=

pOo

9.723/81
23.69 *+ 0.5644

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

::| Entries
-l Mean

‘L Std Dev

82
-1417
1449

45

40

35

30

25

20

15

10

pulllD

Entries 82

Mean -0.00216

Std Dev  0.3443

5,..|...|...|...|1..|...|l.|lm

-8

6 8




reg_asym_sam3_diff_bpm12X_ slope vs run

X2 / ndf 6.948/81

ulllD
PO 0.1201+ 0.02607 F P
L Entries 82
45—
: Mean -0.002191
40
: Std Dev 0.2911
35+
30
25
______________________________________________________________________________________________ 20
TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN r
«@aQ0 S . NP NPP- NRRR- NP NP0 o
e pull [
0.6 H i 82 10_
-2135 L
0.4 2174 -
0.2 5
G ; 1
o2 0'|||||||||||||||||||||||||||||||

-04 8 6 4 =2 0 2 4 6 8

|EIEI£!'_|I”|”I|“

-0.6




-100

-120

reg_asym_sam4_diff bpm1X_ slope vs run

X2 [ ndf

32.59/81
p0 ~47.95 + 1.983

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

S pull

:| Entries
:] Mean

82
134.7
91.7

35

30

25

20

15

10

el

pulllD

Entries 82

Mean 0.01093

Std Dev  0.6304

-8

-6

-4

-2

0

2

4

6 8




reg_asym_samd4_diff_bpm4aY_slope vs run

50

40

x2 | ndf 20.99/81
pO 24.85 +1.421

20}t LA

10

so:il--

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

R R R R R R

pull

82
-730
765.3

35
30

251

15

10

pulllD

Entries

Std Dev

82

Mean  0.009138

0.5059

olretli bl
s 6 4 =

0 2 4 6

8




-40

-60

-80

—-100

-120

-140

reg_asym_samd4_diff_bpm4eX_slope vs run

X2 / ndf

pO

30.16 /81
-101.1+1.982

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

e

EEEmEaes

pull

82
107.5
64.71

40

35

30

25

20

15

10

oLLLL

pulllD

Entries 82

Mean -0.01257

Std Dev  0.6064

|III|III|I[I|III|HI|III|III

-8

-6 -4 -2 0 2 4 6

8



200

190

180

170

160

150

140

130

reg_asym_samd4_diff_bpm4eY_slope vs run

X2 / ndf

- pO

39.2/81
170.9 + 1.596

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

i
Y

ATTITTITIIIIT

pull

pulllD

30 Entries 82
Mean -0.03084
Std Dev 0.6907

25

20—

15

10+

5_

0 III|III|III III|III|III|III|III

-8 - -4 -2 0 2 4 6 8




reg_asym_samd4_diff_bpm12X_ slope vs run

X2 / ndf
pOo

46.08 /81

-1.27 + 0.07321

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

" Entries
Mean

82
-3350
3390

25

20

15

10

-III|III|III|_

III|III—|III|III|III

pulllD

Entries 82

Mean -0.004017

Std Dev  0.7496

8 6 4 =2

0

2

4

6 8




reg_asym_sam5_diff bpm1X_ slope vs run

x2 [ ndf 10.4/81
pO -4.835 + 1.143

pulllD

Py 3. | J_ Entries 82

30

Mean -0.004125

20

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN B

pull

0.6

0.4

{ std Dev . 5

0.2

-0.2
-0.4

O-III|III|III|III|III|III|III|III
-8 -6 -4 -2 0 2 4 6 8

-0.6

-08

=
=
=
=
=
=
=
=
=1

-12




reg_asym_samb_diff_bpm4aY_slope vs run

X2 / ndf 21.22

/81

pO 52.59 + 0.8186

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

" Entries
Mean
Std Dev

82
-417.3
452

pulllD
Entries 82
35
o Mean 0.0171
- Std Dev 0.5085
30
25
20—
15
10+
5
O-III|III|III|III|III|III|III|III

-8

-6

-4

-2

0 2 4 6 8



reg_asym_samb_diff_bpm4eX_slope vs run

x2 | ndf 10.02 /81

30

- pO 5.093 + 1.142
] TR
203— -----------------------------------------------------------------------------

15 _ -------------
108 e

A

-10

-15

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

E
E
=
E
E
=
E

15

30

25

20

10

pulllD

Entries 82

Mean  0.002779

Std Dev  0.3495

-8

-6

-4

O-III|III|III|II

-2

0

2 4 6 8



reg_asym_samb_diff_bpm4eY_slope vs run

X2 / ndf 43.43/81

pulllD

pO 87.55 + 0.9192
100_ ..................... EE BE BEY R - 30__ I Entries 82

e e

Mean -0.04389

90__‘ 25

1 _ StdDev  0.7265

| il |
0] A O e | O O O e 1 L T

m‘l 20
TORELE T @I
B0 -+ |

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN 10+

ma pull

F: : 111 Entries 82 I

05 ) Mean -215.1 5

-1 Std Dev 249.4

0 frstid '.:.'.';'.'.'.'.'.'; I
-05

- 0III|III|IIIIII|IT|I|III|III|III

-8 -6 -4 -2 0 2 4 6 8




reg_asym_samb_diff_ bpm12X_ slope vs run
X2 / ndf

pOo

52.94 /81
-0.74 + 0.04224

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull
- Entries 82
Mean -769.3
Std Dev 809.7

24

22

20

18

16

14

12

10

pulllD
Entries 82
Mean -0.017

Std Dev 0.8033

:III|III|III Illlllmlllllll

€ % 4 =2 0 2 4

|III
6 8




reg_asym_sam6_diff bpm1X_ slope vs run
X2 / ndf

40

30

20

10

o
IR

pO

7.593/81
18.28 + 1.383

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

(QAQAD

82
-169.7
213.9

pulllD
| Entries 82
35
: Mean -0.01629
30-_ Std Dev 0.3039
25
20—
15+
10+
5_
O-III|III|III|III|III|III|III|III

-8

-6

-4

-2

0

2

4

6 8




reg_asym_samé6_diff_bpm4aY_slope vs run

X2 [ ndf
pO

17.83/81
39.24 + 0.9861

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

(QAQAD

_IJII. I.LI:III.I:IIII|III|III|I!I|:IJI [

pull

Entries
| Mean
+| Std Dev

82
-117.1
149.3

30

25

20

15

10

pulllD

Entries 82

Mean 0.03869

Std Dev  0.4647

8 6

-4

-2

0

2 4 6 8



reg_asym_samé6_diff_bpm4eX_ slope vs run

x2 | ndf 8.187 /81
pulllD
pO 65.49 + 1.383
1 Entries 82
35
- Mean 0.01601
L Std Dev 0.3156
30
25
20—
15
TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN
%WWWWWW%&WWWMMWWW 10
i pull :
06 L
0.43 L
= 5
02 =" |
Tk o e e
-2 7 |
70_4_:‘ 0III|III|III|III|III|III|III|III
—0.63 -8 - -4 -2 0 2 4 6 8




100

90

80

70

60 1

50

reg_asym_samé6_diff_ bpm4eY_slope vs run

X2 / ndf

31.11/81
pO 82.17 + 1.107

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

1 std Dev

82
-110.1
141.7

CIiiiiiiii INTEE NN

35:—
30:—
25:—
20:—
15:—

10

pulllD

Entries

Mean

Std Dev

82

-0.05602

0.6134

0:||||||||||| |||||]|||||||||||||

-8

-6

-4

-2

0

2

4

6

8




reg_asym_samé6_diff_ bpm12X_ slope vs run

x2 I ndf 39.57/81

i _ ulllD
- p0 ~0.7973 + 0.0512 r P
(0] - J Entries 82
: 20__ Mean -0.02276
-0.5m
H 18 StdDev  0.6943
I_I L
16—
—1Ht e 15F i
-lT 14
-15Ht} [ 1
B 121~
B et R R R TR R ER PR 10—
- sk
TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN r
o — pull
15 3| Entries 82 r
E Mean -439.2 A
— Std Dev 479.7 B
0. . -
E 2
[ e N N IR B L H - Bl HH Bl H o e B -
—0.5:::— :
= 0III|III|IIIIIIIIIIII|III|III
=
E -8 -6 -4 -2 0 2 4 6 8
15 B
Eiii




25

reg_asym_sam7_diff_ bpm1X_ slope vs run

x2 [ ndf 49.89 /81

pO 15.72 + 0.3371

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pulllD

22

20

18

16

14

12

10

oLLLL

Entries 82

Mean 0.03366

Std Dev  0.7793

-8

|...|.|I|A..|..

-I‘llllllllllll
2 4 6

8



reg_asym_sam7_diff_bpm4aY_slope vs run

X2 / ndf

11.92/81

B pO 9.444 + 0.2396

R B

12

10

TN <ERA~0 STRIRF LADEID THIKEN (G5 CIRERD NS 610 SHID~ CISHa0 <ERD-60 O 00 SEHRTN0 SR LD

R R R R R R

Hexn @oN

pull

------- ::[Entries

40

35

30

25

20

15

10

pulllD

Entries

Std Dev

82

Mean -0.001475

0.3812

8 % 4 =2 0 2 4 6

8




reg_asym_sam7_diff_bpm4eX_slope vs run

X2 / ndf 52.52 /81
pO -46.98 + 0.3369

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

‘[ Entries
:[ Mean

82
-24.77
40.37

TR T

FTT

25

20

15

10

pulllD

-III|III|III||I_II|III|I|T|I|III|III

Entries 82

Mean -0.03755

Std Dev  0.7994

-6 -4 -2 0 2 4 6 8



reg_asym_sam7_diff_bpm4eY_slope vs run

X2 / ndf
—A2f e pO

12.37/81

-16.91+ 0.2691

_22 e R

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

(QAQAD

0.8
0.6
0.4
0.2

-0.2
-0.4
-0.6
-0.8

-2 |5

-14

pull

:| Entries

Mean

/| std Dev

82
2732
2722

pulllD

35

30

25

20

15

10

olLLLL

Entries 82

Mean 0.0001622

Std Dev  0.3884

-8

-6

-4

-2

0

2 4 6 8



reg_asym_sam7_diff_bpm12X_ slope vs run

X2 / ndf

15.79/81
po 0.3977 £ 0.01248

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

;18| std Dev

R et aan HES tiaan e t1an IR SRR MMM - Enties &
.11 Mean -606.2
640.8

25

20

15+

10

0:|||Im||||||:|||:‘|||||||||Im

-8

-6

-4

-2

0

2

4

6

8




15

1

o

(=]

-10

R N N N
L R N N T )

reg_asym_sam8_diff bpm1X_ slope vs run

N pO

x2 [ ndf 134.3/81
6.99 £ 0.2944

|

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

<=+ Entries
il Mean

82
30.16
30.26

StdDev __

pulllD

24

22

20

18

16

14

12

10

Entries 82

Mean 0.03963

Std Dev 1.279

-8

|-|||-||||||_|||

-2

|III
0

|_|III|III|III

2 4 8



-30

reg_asym_sam8_diff_ bpm4aY_slope vs run

X2 / ndf

------------------------------------------------------------ pO

56.54 / 81
-37.6 £ 0.21

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

EETEREENE

pull

22

20

18

16

14

12

10

pulllD

Entries 82

Mean  0.0483

Std Dev  0.829

I_”,|,,,|... ...|...H..H|...|m

-8 -6 -4 -2 0 2 4 6 8



=20

-25

-30

-35

-40

-45

i
S I I

reg_asym_sam8_diff_bpm4eX_ slope vs run

X2 / ndf 129.6 /81
""""""""""""""""""""""""""""""" pO —36.09 + 0.2943

gt SR

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

-| Entries
.| Mean
Std Dev

82
19.12
21.01

l_-l:ll lLl‘IIII|I.I.lII:IJll.llll.lil.l.lll:l.llLlll.I.li T

i'i'fI1'i'i'i‘|1‘i'i'i‘i11"i'i'H1‘i'i'i‘H1'i'i‘fi1l'i'i'i‘H‘i'i'i‘H1'i'i'i‘I1‘i'i'i‘fI1'i'i'i‘I1'i'i'H1‘i'i'i'Hi‘i'i'i‘H‘i'i'i'fi

18

16

14

12

10

pulllD
1 Entries 82
Mean -0.04334
Std Dev 1.257

-8

Livilin
€ 4

iR

2 8



reg_asym_sam8_diff_ bpm4eY_slope vs run

x2 [ ndf 56.17 /81
] po 40.9 £ 0.2358

pulllD

- Entries 82
Q4 10 SR I S ke IRl el b & 16~
i Mean -0.04722
14 StdDev 08263
L]
§ lI i
12~ J7
10+
- 8 =
BAf— oo i
TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN 6__
mmmmcwwwﬁmmwﬁﬁpwm»mﬁﬁ L
pull A 7
E : ¢ :[Entries 82 I
‘E ‘| Mean -156.1
L :L.Std Dev 192.9
0: N H M L o
,2: 0III|III|III|III|II|III|III|III
E -8 - -4 -2 0 2 4 6 8
s B
G




0.4

0.3

0.2

0.1

-0.1

reg_asym_sam8_diff_ bpm12X_ slope vs run

X2 / ndf
pO

51.33/81
0.1585 + 0.01088

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

EEEmEaes

e

20

18

16

14

12

10

oLLLL

|III|III|TII_I|III|III|III|III

pulllD

Entries 82

Mean -0.01864

Std Dev 0.791

-8

-6

-4

-2

0

2

4

6 8




reg_asym_usl_diff_bpm1X_ slope vs run

x2 [ ndf 28.95/81
- ulllD
. p0 ~69.79 £2.152 |  =F P
_20 : ] Entries 82
- Mean 0.01169
-40
L 20}
Std Dev 0.5941
-60
-80 15|
-100 i
20 R e T LR LR LR LR LR R LR R LR R R REERREERERERE 101
_O‘NOMGNNWWWNWWWWWWWMMWM
2 - pull
: [ Entries 82 5
15 Mean 22.65
StdDev 7868
0 N1 S rn | TR AT T A AT
8 6 4 =2 0 2 4 6 8




40

30

20

10

-10

-20

-30

-40

reg_asym_usl_diff bpm4aY_slope vs run

X2 / ndf 26.31/81
pO -0.4489 + 1.534

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

i: * [ Entries
i} Mean
:_Std Dev

82
123.5
59.54

------

25

20

15

10

pulllD

82

0.01008

0.5663

Entries
Mean
Std Dev

8 % 4 =2 0 2 4 6

8




reg_asym_usl_diff bpm4eX_slope vs run

X2 / ndf 28.47 /81
pO 11.36 + 2.151 a pulllD
25 — Mean -0.01231

Std Dev 0.5891

20—
15+
C 101
TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN
pull
82
22.35 5
77.74
0 III|III|III III|I:|-I‘|III|III|III

-8 -6 -4 -2 0 2 4 6 8




reg_asym_usl_diff bpm4eY_slope vs run

x2 | ndf 28.32/81
po 22.21+1.714

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

el o e o

s pulllD
Entries 82
Mean 0.005615
20—
Std Dev 0.5877
15
10+
s

8 % 4 =2 0 2 4 6

8




—-36

=37

-38

reg_asym_usl_diff_bpm12X_slope vs run

X2 / ndf

_!IIII|IIII|III

-39

-40

-41

pOo

72.5

2/81

-38.2 +£ 0.08018

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

EEEmEaes

e

‘Lstd Dev

82
-111.4
147.8

16

14

12

10

pulllD

Entries 82

Mean  -0.06659

Std Dev 0.9381

-8 -6 -4 -2 0 2 4 6 8



-20

-40

-60

-80

-100

-120

reg_asym_usr_diff_bpm1X_slope vs run

X2 / ndf

pO

30.76 / 81
-63.81+ 2.284

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

TTT

25

20

15

10

0III|III|III|I

pulllD

Entries 82

Mean -0.03603

Std Dev  0.6114

-8

-6

-4

-2

0

2

4

6 8




-10

-20

-30

~40

reg_asym_usr_diff bpm4aY_slope vs run

x? I ndf 24.66 / 81
-0.7338 + 1.624 Ar

pulllD

I|IIII
1o
o

30

Entries 82

20

i Mean  0.01843
20—
10 [

Std Dev 0.548

18

16

14~

............................................................................................. 10

Illlllllllllllk!_LLLl_!_%l

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN 8

Frr o N T T T T T T s = i
- Tt . i[ Mean 52.31 4+
05 i Std Dev 4.413 L

OEIII |-|III|III|III|III|III

|III|III
-8 -6 -4 -2 0 2 4 6 8




180

160

140

120

100

80

60

reg_asym_usr_diff bpm4eX_ slope vs run

x2 | ndf 31.39

- po

/81

121.7 + 2.282

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

iy
iy
y
Y
ry
e

82
-27.99
62.76

25

20

15

10

pulllD

Entries 82

Mean 0.03716

Std Dev  0.6176

8 6

-4

-2

0

2 4 6 8



60

reg_asym_usr_diff bpm4eY_slope vs run

x2 | ndf 23.68/81

B pO 19.07 + 1.815

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

82
206.1
164

ol T ol e e o ol e

LI RIS AL S E R T A R I K ] AR IR SR SR A

25

20

15

10

pulllD

-III|III|III|III|III|_|III|III|III

Entries 82

Mean -0.006777

Std Dev  0.5373

-6 -4 -2 0 2 4 6 8



reg_asym_usr_diff bpm12X_ slope vs run

x2 I ndf 29.84 /81

-36.5

=37

-37.5

_!_I_I_I_I|IIII|IIII|IIII

-38

p0 -38.11+ 0.08518

-38.5 +

_39 L

=395 HTHH N

-40

-40.5

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

e

pull

20

16

12

=

O-III|III|III|III|III|III|III|III

pulllD

Entries 82

Mean -0.04833

Std Dev  0.6013

-8

-6

-4

-2

0

2

4

6 8




reg_asym_dsl_diff_bpm1X_slope vs run

x2 I ndf 431.3/81

e ulllD
- po ~0.5474 + 0.2311 i P
- 9_
- = Entries 82
C 8-— Mean -0.007567
r o StdDev  2.203
- 7+
— 6| «\
- sk
I_% 4
TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN 3
e pul o
: 82 L
153.8 o
155.4 r
1+ L
O-III|III|II |III|III|III III|III

-8 -6 -4 -2 0 2 4 6 8




reg_asym_dsl_diff bpm4aY_slope vs run

X2 / ndf

N
T rr[rrrrr?

159.1/81

B pO 0.318 *+ 0.1653

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

~:[ Entries
. .| Mean

Std Dev

82
95.65
24.33

pulllD

J Entries 82

10~ Mean 001317
StdDev 1393

8l —L—
6
4 H
2_
o|||||||||||||||||||||:‘I|III|III
-8 -6 -4 2 0 2 4 6 8




reg_asym_dsl_diff bpm4eX_slope vs run

- X2/ ndf 376.7 /1 81
15¢ pulllD
- pO 0.516 £0.231
é 12
:_" 10
= s-
e L0 S L REEEEE] REE IR SR 1
_15 __% .............................................................................................
C s
D0

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

4 82
631.5
2 600.1 2

-8 -6 -4 -2 0 2 4 6 8

-8 - - ddeioppideioibi




reg_asym_dsl_diff bpm4eY_slope vs run

X2 I ndf 153.9/81
C pO -0.4175 + 0.1855

-10=
TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

10

Entries

0000000000000

o:"||III||:|III|||||I-‘I|||||||||

-8 -6 -4 -2 0 2

4 6 8




reg_asym_dsl_diff_bpm12X_slope vs run

i X2 / ndf 177.1/81
. PO -0.01701+ 0.008526 pulllD
e
T Mean -0.0189
10

— 6 —
0B . .

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

o:"l cod bt H|||||||||

-8 -6 -4 -2 0 2 4 6 8

=
=
=
=
=
=
=
=
=
=
=
=




reg_asym_dsr_diff_bpm1X_slope vs run

X2 I ndf

B pO

90.63/81
—0.1438 + 0.1506

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

16

14

12

10

olLLLL

pulllD

Entries 82

Mean 0.01243

Std Dev 1.051

-8

-6

-4

-2

0

2

4

6 8




reg_asym_dsr_diff bpm4aY_slope vs run

X2 / ndf

pO

86.52 /81
-0.05037 + 0.1081

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

SOOI I e IIrrl

ol o o o o i o A ol A o ol o I

16

14

12

10

olLLLL

pulllD

Entries 82

Mean  0.008006

Std Dev 1.027

-8

||||||H|
6 4 2

0

2

4

6 8




(=]

reg_asym_dsr_diff bpm4eX_ slope vs run

X2 / ndf 90.27 /81

pO 0.1156 + 0.1505

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

18:—
14:—

10

O-III|III|III|III|III|III|III|III

pulllD

Entries 82

Mean -0.01244

Std Dev 1.049

-8

-6

-4

-2

0

2

4

6 8




reg_asym_dsr_diff bpm4eY_slope vs run

X2 / ndf 91.36/81
pO 0.08712 £ 0.1213

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

.| Entries
:[ Mean
{ Dev

82
492.2
498.6

14

12

10

||H

|||||||I—‘|H|I|||Im

pulllD

Entries 82

Mean -0.003909

Std Dev 1.055

8 % 4

-2

0

2

4

6 8




0.15

0.1

0.05

-0.05

-0.1

-0.15

reg_asym_dsr_diff_bpm12X_slope vs run

X2 [ ndf
pO

86.92/81

0.001571 + 0.005561

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

:| Entries
Mean
i| Std Dev

82
533.5
522.6

14

12

10

pulllD

-||||||||||||||||||||—‘|||||||||||

Entries 82

Mean -0.003435

Std Dev 1.03

-6 -4 -2 0 2 4 6 8



=20

~40

-60

-80

—-100

-120

0.6
0.4

0.2

-0.2
-04
-0.6
-0.8

reg_asym_us_avg_diff bpm1X_slope vs run

X2 [ ndf

18.64 /81

e PO -66.78 + 1.952

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

Entries
| Mean

82
-47.81
64.86

‘|_Std Dev

30

25

20

15

10

pulllD

Entries 82

- Mean -0.01484

Std Dev  0.4766

:|||I|||||||||[|||||||||||||||||

-8 -6 -4 -2 0 2 4 6 8



reg_asym_us_avg_diff_bpm4aY_slope vs run

30

20

10

-10

-20

-30

|||||||||||.|_|_|_|_|_|_|_?_|ﬂ1_|_|_|_|_|_|_|_|_|_a||
. . — @ g— .
—4 !

x2 [ ndf 14.41 /81
pO -0.629 + 1.388

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

EEEmEaes

0.8
0.6
0.4
0.2

-0.2
-0.4
-0.6
-0.8

rd
=
=
=
e
=

pull

:.2 [ Entries
:| Mean
. Std Dev.

30

25

20

15

10
82
80.39

42.7 5

Entries 82
B Mean  0.01729

StdDev 04189
|||||||||||||||||:||||||||||||||

-8 -6 -4 -2 0 2 4 6 8



120

100

80

60

40

20

0.8
0.6
0.4
0.2

Lo
1 9 9 © 9©

-12
-14

reg_asym_us_avg_diff_bpm4eX_slope vs run

X2 / ndf 18.29 /81
L p0 66.5 + 1.951

= B

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

i Entries

82
-46.87
63.96

Pirbddrtiigii bl

30

25

20

15

10

pulllD

-|||||||||||||||||:‘|||||||||||||

Entries 82

Mean 0.01516

Std Dev 0.472

-8

-6 -4 -2 0 2 4 6 8



reg_asym_us_avg_diff_bpm4eY_slope vs run

X2 / ndf 14.69 /81
p0 20.61+ 1.55 [

pulllD

Entries 82

30

Mean 0.0007897

Std Dev  0.4233

251

20

15+

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN B r

82
-2467
2524 5

O-III|III|III|I|TI|III|III|III|III
-8 -6 -4 -2 0 2 4 6 8




reg_asym_us_avg_diff_bpm12X_slope vs run

X2 / ndf 46.56 / 81
po -38.13 + 0.07293 22 pulllD
20 Entries 82
l 18
I 1197 10/ le/®" @
16 |
14

12

10

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

[ Entries 82
:| Mean -82.1
H 120

0III|III|III| II|III|III|III|III
-8 -6 -4 -2 0 2 4 6 8




reg_asym_us_dd_diff_bpm1X_slope vs run
x2 | ndf 68.99/ 81

ulllD
po —2.271+1.026 - P

14

............................................................................................. Entries 82

----------------------------------------------------------------------------------------- Mean 0.01583
12

o Std Dev 0.9171
- |. _ ) [T @ L |-l 10

'i

8 —
.............................................................................................. 6 —

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

0:||||||||||| Ll ||H|||||||||

-8 -6 -4 -2 0 2 4 6 8




reg_asym_us_dd_diff_ bpm4aY_slope vs run

DO e

10R-&F - T g

_10 ---------------- | O N R O Ry o IO Rt B O e e e .

-20

-30

X2 / ndf
pOo

64.2 /81
0.0652 + 0.7343

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

..I:I.I.I.I.IIII.I.i.l.l.l.l:l.l.l.

pull

Entries
| Mean
Std De!

82
10.15
247

14

12

10

-8

pulllD

Entries 82

Mean  0.001856

Std Dev  0.8848

:||||||||||H Lol b b

6 8




reg_asym_us_dd_diff_ bpm4eX_ slope vs run

x2 [ ndf 70.27 /81

p0 -55.86 + 1.025 F pulllD

14
” Entries 82

Mean  -0.01811

12~

I~ Std Dev  0.9256

10

=00
O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

. pull

Entries 82
Mean -141.2 r
Std Dev 189.3

.I.I.I.I.I.I.I.i TT I‘I:I.I.Lll.l

0:|||I|||I|H|| cho b b

-8 -6 -4 -2 0 2 4 6 8

-3 :I‘I'i'i'fl1'i'i'i‘I1‘i'i'H11'i'i‘fI1‘i'i'i‘li1'i'i'H1'i'i'H1‘i'i'HI1'i'i'i‘l1‘i'i'i‘fI1'i'i'i‘|1'i'i'i‘H‘i'i'i'fH‘i'i'i‘H‘i'i'i'fi




30

20

10

(=]

-10

=20

reg_asym_us_dd_diff_bpm4eY_slope vs run

x2 [ ndf 65.05/81
------------------------------------------------------------ po 1.674 £ 0.8241

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

a

‘Lstd Dev

82
-1677
1891

Diiiiiidoiibiddoibiidoibiddoibii kiddodelbbddolbbddololbbddelbbidololbbdalol.bbddollbdddelbiddolbil

14

12

10

pulllD

Entries 82

B Mean 0.0002073

Std Dev  0.8906

:|||||||||H| ol H||||||||||

-8 -6 -4 -2 0 2 4 6 8



—0.5 T oo L Qe AT e e f L

reg_asym_us_dd_diff_ bpm12X_ slope vs run

X2 I ndf 57.49/81

po -0.06467 + 0.03789 pulllD

18

Entries 82

Mean 0.00725

_____________________________________________________________________________ 16

0.5

Std Dev  0.8373

12

B 10
p! | pund Rt bt bbb bttt b bbbt I bbby 8
TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN 6
pull 4

2 :| Entries 82

.| Mean 466.1
Std Dev 437.5

0III|III|III|III|III|III|III|III
-8 -6 -4 -2 0 2 4 6 8

I.IJll.llLllI.IIll-lll.lll.l.lll-lll.lll.llll.l




reg_asym_ds_avg_diff_bpm1X_slope vs run

X2 I ndf 366.9 /81

e pO ~0.3519 + 0.1382 i pulllD
g | b
___________________________________________ L 002186
& ; oL i
5 —
& at
0 N 3__ - M

; |H ol

-8 -6 -4 -2 0 2 4 6 8




reg_asym_ds_avg_diff_bpm4aY_slope vs run

X2 I ndf 141 /81

po 0.1548 + 0.09895

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

14

12

10

pulllD

Entries

Std Dev

82

Mean  0.003582

1311

8 % 4

-2 0 2 4 6

8




reg_asym_ds_avg_diff_bpm4eX_slope vs run

- X2 / ndf 322.8/81
pO 0.3231+ 0.1381

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

e <1 Entries 82
- :[ Mean -715.8
i std Dev 746.4

pulllD

10

Entries 82

Mean -0.004631

Std Dev 1.984

||||||||||||||:‘|||||||

-8

-4

-2 0 2 4 6 8



N

reg_asym_ds_avg_diff_bpm4eY_slope vs run

x? I ndf 140.2/81
s PO -0.1901%0.1111

Ll g

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

R R R R R R

pull

* i Entries
Mean
Std Dev

82
-122.4
137.2

12

10

pulllD

Entries 82

Mean  0.008767

Std Dev 1.308

|H||||||||

8 % 4

0 2

4 6 8



reg_asym_ds_avg_diff_bpm12X_slope vs run

0.2
0.15
0.1

0.05

-0.05
-0.1
-0.15
-0.2

-0.25—

X2 I ndf 136.9/81
po -0.008777 + 0.0051

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

T Entries
-] Mean
Std Dev

82
-153.8
248.2

18

16

14

12

10

olLLLL

pulllD

Entries 82

Mean -0.006374

Std Dev 1.292

-8

-6

-4

-2

0

2

4

6 8




reg_asym_ds_dd_diff_bpm1X_slope vs run

- X2 / ndf 305.2 / 81
10— PO  -0.18+0.1385 | T pull1D
141+ -
______________________________________________________________________________________________ Entries 82
--------------------------------------------------------------------------------------------- L Mean -0.0226
12
"""""""""""""""""" Std Dev  1.929
10 r
8_
=
%mﬁ:m%nﬁm%m;@m@m@m%% 4
e pull I L
- 82
] 30.35 F
BRG] 4514 2_
O-III|III|III|III|III III|III|HII

-8 -6 -4 -2 0 2 4 6 8




reg_asym_ds_dd_diff_bpm4aY_slope vs run

X2 / ndf 134.5/81

s po 0.1663 + 0.09912 . pulllD

Entries 82

12
Mean  0.01587

Std Dev 1.28

10

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull
Entries 82
.| Mean 14.48
Std Dev 87.06 2+

o:u|||||||||||||||||||||H|||Im

8 6 4 =2 0 2 4 6 8




reg_asym_ds_dd_diff_bpm4eX_slope vs run

X2 / ndf

272.1/81

pO 0.1805 + 0.1384

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

EETEREENE

pull

i i Entries
:| Mean

‘|_std Dev

12

10

pulllD
1 Entries 82
B Mean 0.01965
Std Dev 1.822
J
Il
-IIH|IIIHIII|III|III|II |III|III
-8 - -4 -2 0 2 4 6 8




reg_asym_ds_dd_diff_bpm4eY_slope vs run

eSS S S X2 / ndf 130.6 /81
_ ) -0.2347 + 0.1113 r puli1D
24 5 o GEEEEE TEELY "TERCTTTTRFLTTTE) EETPPRITTRPRIEETTS EETPRS k CPERG CET SECCTTPREE (EPRSTTTTN: FEPPRR 14
L batnl e Mlsae LI ® od b0l |
E Rl I [
B + 10f
] R R Rt IS NEE L SR RPN SR NETPOSISISPRN SRR 0¥ LN EESPRRRS SN 2 I
. oL
_4— ---------------------------------------------------------------------------------------- L
— 6_
N T O R R e L
2_
0-||||||||||||||||||| |||||||||||

-8 -6 -4 -2 0 2 4 6 8




reg_asym_ds_dd_diff_bpm12X_slope vs run

X2 [ ndf

0.2

0.1

p0

168.4/81
-0.00926 + 0.005109

-0.1

-0.2

0.3

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

12

10

pulllD

Entries 82

Mean -0.01446

Std Dev 1.433

Lol

8 % 4

-2

0

2

4

6 8




-10

-20

-30

-40

=50

-60

—-70

reg_asym_left_avg diff bpm1X_slope vs run

X2 [ ndf
pO

38.39/81
-35.13 £1.083

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

...} Entries

82
:[ Mean 7.471
7L Std Dev 93.88

25

20

15

10

pulllD

-III|III|III|III|III|-|III|III|III

Entries 82

Mean  0.007926

Std Dev  0.6842

-6 -4 -2 0 2 4 6 8



reg_asym_left_avg_diff_bpm4aY_slope vs run

x2 I ndf 28.99 /81
) -0.0493 + 0.7718 i pull1D
22 »
20-— Mean 001016
18-— StdDev  0.5945
16-—
14-—
12-—
10f
sk
%m@m%@m%mﬁmﬂm@m%% 6l
pull :
4
2

0III|III|III|III|II-I||III|III|III

8 6 4 =2 0 2 4 8




reg_asym_left_avg_diff_bpm4eX_slope vs run

x2 | ndf 37.58/81
pO 5.929 £1.082

30

20

10

‘e

-10

-20

-30

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

82
-11.07
96

25

20

15

10

'...|...|...|...|..1|...|...|...

pulllD

Entries 82

Mean -0.0101

Std Dev 0.6769

-8

-6 -4 -2 0 2 4 6 8



reg_asym_left_avg_diff_bpm4eY_slope vs run

35

30

25

2064} 1l

15

X2 / ndf 32.17/81
pO 10.87 + 0.8627

10

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

..:| Entries
. .| Mean

82
-280.8
346.7

Std Dev

pulllD
Entries 82
25
Mean 0.00726
Std Dev 0.6264
20—
15 J_
10+
5_
0 III|III|III|III|III III|III|III
-8 - -4 -2 0 2 4 6 8




-18

-18.5

-19

-19.5

-20

-20.5

reg_asym_left_avg_diff_bpm12X_slope vs run

x2 I ndf

73.66 /81
-19.11+ 0.04035

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

16

14

12

10

pulllD

| -L Entries 82

Mean -0.06645

Std Dev  0.9454

-8 -6 -4 -2 0 2 4 6 8



-10

-20

_30 L

-40

-50

-60

reg_asym_left_dd_diff_ bpm1X_ slope vs run

x2 [ ndf 28.57 /81
pO -34.63 + 1.082

@

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

e

82
29.35
74.47

25

20

15+

10+

O-III|III|III|-|III|III|III|III|III

pulllD

Entries 82

Mean 0.01406

Std Dev 0.5901

-8

-6

-4

-2

0

2

4

6 8




reg_asym_left_dd_diff_ bpm4aY_slope vs run

X2 / ndf 26.67 /81
R po -0.4045 + 0.7715

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

0.5

Biici 4 44 4 it i T E b b 4o b A A A A i A

82
114
65.2

25

20

15

10

pulllD

Entries 82

Mean 0.01032

Std Dev  0.5702

I|_|III|III|III

8 % 4 =2 0

2 4 6 8



reg_asym_left_dd_diff_ bpm4eX_ slope vs run

B0 eeeee e

20

10

x2 | ndf 27.27181

........... pO 5.412 + 1.082

&

-10

-20

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

.1 Entries
Mean

82
46.09
75.33

Std Dev

pulllD

-|_ Entries 82

25
Mean -0.0132
Std Dev 0.5765

20

15

10

51

III|III|III|III|III III|III|III

-8 -6 -4 -2 0 2 4 6 8



reg_asym_left_dd_diff_ bpm4eY_slope vs run

30

X2 / ndf
pOo

27.36/81
11.35 + 0.8623

;w”l!llllllllllllll

O A0 SR LADD “TIREN (@D CIRERO NS00 SR~ SIS RN HAD-60 OTI TN SERAN0 STIRE LD "D @SN

pull

::| Entries
- Mean

82
-656.7
722.2

Std Dev

22

20

18

16

14

12

10

pulllD

Entries 82

Mean  0.003162

Std Dev  0.5777

-8

6 8




-18

-18.5

-1

©

-19.5

-20

-20.5

reg_asym_left_dd_diff_bpm12X_slope vs run

x2 I ndf

pO

74.51/81
—-19.09 + 0.04033

_|-|IIII|IIII|IIII

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

16

14

12

10

olLLLL

||||||||[||||||||||||||||||||

pulllD

Entries 82

Mean -0.06518

Std Dev 0.951

-8

-6

-4

-2

0

2

4

6 8




reg_asym_right_avg_diff_bpm1X_slope vs run

- X2/ ndf 30.1/81
p0 -32 + 1.144

pulllD

20

—H Entries 82
Mean -0.03442

Std Dev  0.6049

18

' 16

14

12

10

-60

TN <ERAN0 STRIRE LADEID THIREN (@S CIRERD NS 6 SHRP~ OIS0 <EHRD-60 O he0 SEUTN0 SR LAGEID “TexEN @SN

pull

:.1.i) Entries 82 4
:[ Mean -29.07
:_Std D 63.91

0III|III|III|III|III III|III|III
-8 -6 -4 -2 0 2 4 6 8

1T




reg_asym_right_avg_diff_bpm4aY_slope vs run
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